

15/10/15

$$A \cap B = \{x : A \cap x \in B\}$$

$$A \cup B = \{x : x \in A \vee x \in B\}$$

$$A - B = \{x : x \in A \wedge x \notin B\}$$

$$A \cup \emptyset = \emptyset \cup A = A$$

$$A \cup A = A$$

$$A \cup B = B \cup A$$

$$A \cup (B \cap C) = (A \cup B) \cap (A \cup C)$$

$$A \subseteq A \cup B \text{ \& } B \subseteq A \cup B$$

$$A - B = \{x : x \in A \wedge x \notin B\}$$

$$A \setminus B$$

n.x
 $A = \{1, 2, 3\}, B = \{1, 5, 0\}$

$$A \cap B = \{1\}$$

$$A \cup B = \{1, 2, 3, 5, 0\}$$

$$A - B = \{2, 3\} \subseteq A$$

$$\bullet A - B \subseteq A$$

$$\bullet A - A = \emptyset$$

$$\bullet \emptyset - A = \emptyset$$

$$\bullet A - \emptyset = A$$

x τυχον

$$x \in A - B \Leftrightarrow x \in A \wedge x \notin B \stackrel{?}{\Rightarrow} x \in A$$

$\underbrace{P \wedge \neg Q}_{\text{(παυσα) αληθης}} \Rightarrow P$

$$\left. \begin{aligned} \emptyset - A &\subseteq \emptyset \\ \emptyset &\subseteq \emptyset - A \end{aligned} \right\} \Rightarrow \emptyset - A = \emptyset$$

Εστω $A - A \neq \emptyset$

Τότε $\exists x : x \in A - A \Leftrightarrow x \in A \wedge x \notin A$

$$P \wedge (\sim P)$$

ψ

$$x \in X - (A - B) \Rightarrow x \in X \wedge x \notin A - B$$

$$\rightarrow x \notin A \cap B \Leftrightarrow x \notin A \vee x \notin B$$

$$\rightarrow x \notin A \cup B \Leftrightarrow x \notin A \wedge x \notin B$$

$$\rightarrow x \notin A - B \Leftrightarrow \sim x \in A - B \Leftrightarrow \sim (x \in A \wedge x \notin B) \Leftrightarrow \sim (x \in A) \vee \sim (\sim x \in B)$$

$$\Leftrightarrow [\sim (x \in A)] \vee [\sim (\sim x \in B)] \Leftrightarrow x \notin A \vee x \in B$$

$$*) (P \wedge \neg Q) \Leftrightarrow (\sim P) \vee (\sim Q)$$

$$**) (P \vee Q) \Leftrightarrow (\sim P) \vee (\sim Q)$$

$$A \dot{+} B = \{x : x \in A \vee x \in B\}$$

↓
συμμετρική διαφορά

$$A \cap (B \cup \Gamma) = (A \cap B) \cup (A \cap \Gamma)$$

$$A \cup (B \cap \Gamma) = (A \cup B) \cap (A \cup \Gamma)$$

x τοxόv

$$x \in A \cup (B \cap \Gamma) \Leftrightarrow$$

$$\Leftrightarrow x \in A \vee x \in B \cap \Gamma \Leftrightarrow$$

$$\Leftrightarrow x \in A \vee (x \in B \wedge x \in \Gamma) \Leftrightarrow$$

(*)

$$\Leftrightarrow (x \in A \vee x \in B) \wedge (x \in A \vee x \in \Gamma) \Leftrightarrow x \in A \cup B \wedge x \in A \cup \Gamma$$

$$\Leftrightarrow x \in (A \cup B) \cap (A \cup \Gamma)$$

$$1) A \subseteq B \Leftrightarrow A - B = \emptyset$$

$$3) A \cap (B - \Gamma) = (A \cap B) - (A \cap \Gamma)$$

$$2) A - B = A - (A \cap B)$$

$$4) A \cup (B - A) = A \cap B$$

(\Rightarrow)

1) Έστω ισχύει $A \subseteq B$ και $A - B \neq \emptyset$

Αφού $A - B \neq \emptyset \Leftrightarrow (\exists x) : x \in A - B \Leftrightarrow x \in A \wedge x \notin B$ Ατόπο
(γιατί $A \subseteq B$)

(\Leftarrow)

Έστω ισχύει $A - B = \emptyset$ και $A \not\subseteq B$

~~$A \not\subseteq B$~~ Άρα $(\exists x) : x \in A \wedge x \notin B \Rightarrow (\exists x) : x \in A - B$
(~~οπότε~~ ^{οπότε} γιατί $A - B = \emptyset$)

$$2) x \in A - B \Leftrightarrow x \in A \wedge x \notin B$$

$$x \in A - (A \cap B) \Leftrightarrow x \in A \wedge x \notin A \cap B \Leftrightarrow x \in A \wedge (x \notin A \vee x \notin B)$$

$$\Leftrightarrow (x \in A \wedge x \in A) \vee (x \in A \wedge x \notin B) \Leftrightarrow P \wedge (Q \vee \neg Q) \Leftrightarrow (P \wedge Q) \vee (P \wedge \neg Q)$$

$$\Leftrightarrow (x \in A - A) \vee (x \in A - B) \Leftrightarrow x \in \emptyset \vee x \in A - B \Leftrightarrow$$

$$\Leftrightarrow x \in \emptyset \cup (A - B) = A - B$$

3) ~~$x \in (A \cap B)$~~ $x \in (A \cap B) - (A \cap \Gamma) \Leftrightarrow x \in A \cap B \wedge x \notin A \cap \Gamma$
 $\Leftrightarrow (x \in A \wedge x \in B) \wedge (x \in A \vee x \notin \Gamma) \Leftrightarrow$
 $\underbrace{(x \in A \wedge x \in B)}_P \wedge (Q \vee \neg Q)$

$\Leftrightarrow [(x \in A \wedge x \in B) \wedge x \in A] \vee [(x \in A \wedge x \in B) \wedge x \notin \Gamma]$
 $\underbrace{(x \in A \wedge x \in A)}_Q \wedge x \in B$ \Downarrow
 $x \in A \wedge (x \in B \wedge x \notin \Gamma)$
 \Downarrow
 $x \in A \wedge x \in B - \Gamma$
 \Downarrow
 $x \in A \cap (B - \Gamma)$

- a) $A \subseteq B \Leftrightarrow A \cap B = A$
- b) $A \subseteq B \Leftrightarrow A \cup B = B$
- c) $(A \cap B) - \Gamma = A \cap (B - \Gamma)$
- d) $\Gamma - (A \cap B) = (\Gamma - A) \cup (\Gamma - B)$
- e) $\Gamma - (A \cup B) = (\Gamma - A) \cap (\Gamma - B)$

a) Έστω ισχύει $A \subseteq B$ Ισχύει πάντοτε $B \subseteq A \cup B$
 1) Από το ο.δ.ο $A \cup B \subseteq B$. x τυχαίο $x \in A \cup B \Leftrightarrow x \in A \vee x \in B$
 $A \subseteq (A \cup B) \Rightarrow x \in A \Rightarrow x \in B$ Από $A \cup B \subseteq B$ (2)
 $\Rightarrow x \in B \vee x \in B \Rightarrow x \in B$ Από (1),(2) $\Rightarrow A \cup B = B$

Έστω $A \cup B = B$ ο.δ.ο $A \subseteq B$
 $A \subseteq A \cup B = B \Rightarrow A \subseteq B$

Δυνατότητα : A σύνολο $P(A) = \{x : x \subseteq A\}$

7. X

$$A = \{1, 2\}$$

$$P(A) = \{\emptyset, \{1\}, \{2\}, \{1, 2\}\}$$

$$P(\emptyset) = \{\emptyset\}$$

Το δυνατοσύνολο μιας συνόλου $(\forall A)$

$$P(A) \neq \emptyset \quad \emptyset = \{\}$$

$$P(\emptyset) = \{\emptyset, \{\emptyset\}\}$$

Να ~~βρούμε~~ βρούμε το $P(\{\emptyset, \{\emptyset\}\}) = \{\emptyset, \{\emptyset\}, \{\emptyset, \{\emptyset\}\}, \{\emptyset, \{\emptyset, \{\emptyset\}\}\}$

Αν $P(A), B$ είναι ~~σύνολα~~ σύνολα, ο.δ.ο $A \subseteq B \Leftrightarrow P(A) \subseteq P(B)$

\Rightarrow) ~~Εάν~~ ^{Εάν} $A \subseteq B$ ο.δ.ο $P(A) \subseteq P(B)$

(unio) ^{Εάν} $A \subseteq B$ X σύνολο τυχόν: $x \in P(A) \Rightarrow x \subseteq A \Rightarrow$

$\Rightarrow x \subseteq B \Leftrightarrow x \in P(B)$ Άρα $P(A) \subseteq P(B)$

\Leftarrow) ^{Εάν} $P(A) \subseteq P(B)$ ο.δ.ο $A \subseteq B$ (για τυχόν

στοιχεία x : $x \in A \Leftrightarrow \{x\} \subseteq A \Leftrightarrow \{x\} \in P(A) \Rightarrow$

$\Rightarrow P(A) \subseteq P(B)$ (unio) $\{x\} \in P(B) \Leftrightarrow \{x\} \subseteq B \Leftrightarrow x \in B$

Ανά $A \subseteq B$

$(A \in P(A)) \xrightarrow{P(A) \subseteq P(B)} A \in P(B) \Leftrightarrow A \subseteq B$

$A \cap B = \emptyset \Leftrightarrow P(A) \cap P(B) = \{\emptyset\}$ (\Rightarrow)

^{Εάν} $A \cap B = \emptyset$ $\Leftrightarrow P(A) \cap P(B) \neq \{\emptyset\}$ Άρα $\exists x \neq \emptyset$:

$x \in P(A) \cap P(B) \Leftrightarrow x \in P(A) \wedge x \in P(B) \Leftrightarrow$

$\Leftrightarrow x \subseteq A \wedge x \subseteq B \Rightarrow \emptyset \neq x \subseteq A \cap B \Rightarrow A \cap B \neq \emptyset$ οτόνο!

\Leftarrow)